Newtonuv integral, tyden 6, cviceni 11

Vypoctéte nasledujici integraly

2
1. /|1 — z|dx
0

2.
/x 243x+2 7'/
0

1007

/ V1 — cos2xdx
0

w

4. /|10g:c|dw
log 2

5. / e* — ldx 10.
0

s

6. /log | sin z|dx

o

27
2
x“ cos x dx

0

dx
8'_/1\/x+1+\/(x+1)3

5
/ sin x—|—2(:052x

3
l/x\/—x2 +4x —3

Newtoniv integral, tyden 6, cviceni 11

Vypoctéte nasledujici integraly

2

1. /|1—x|dx 6.

0

oo

5 /dif .
’ 2243242 )

0
1007

/ V1 — cos2xdx
0

w

~
n\»—‘\m
<3
o
8
U
8

10.

<
o
)
&
W
—
U
8

T

/log | sin z|dx

(=)

2m

/:132 cosx dr

0

57/6
11 / 'cosZrdx
|sinz — cos z
/6
6m
/:csm
2 + sin( x2
0
o0
13. /&
e2r 4 er 41
— 00

1
14. /xQ arctan r dx
0

dx
8'/1x/x+1+\/(:c+1)3

5
/ sin x—|—20052

3
/z\/x2+4x3

57/6
11 / .cos 2xdx
| sinx — cos z|
w/6
61
19. / xsin(fv2) dz
2 + sin(2?)
0
e’ dz
13. _—
/ e e 41

1
14. /x2 arctan x dx
0



Neékteré vysledky
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